
Division Challenge Questions 

 

 

  

 

 

 

 

 

This is ______ because  

 

 

 

 

 

 

 

3a.How could you split this to make it easier? 

12 ÷ 3 =  

 

  

You do not need to print this page. Please write the answers in your books. Don’t forget to put the number next to it so you 

can mark it. 

Please choose the challenge you are most comfortable with. The stars indicate the difficulty of the questions. 

___ ÷ ___ = ___ ___ ÷ ___ = ___ 

___ ÷ 2 = ___ ___ ÷ 2 = ___ 
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1b. 

 

 

  

 

 

 

This is false because ___  

Their mistake is ___ 

 

2b.  

 

 

 

 

 

3b. 

Remember to exchange 

your ten for 10 ones if 

you need to. 

  

 

___ ÷ ___ = ___ ___ ÷ ___ = ___ 



 

Think about partitioning 

it with 2 numbers that 

you know are in the 6 

times tables to make it 

easier. (60 and 36?) 

 

 

Remember, you will need 

to exchange some tens 

here.  

 

 

 

 

 

Challenge: 

 

 

1c. 

2c. 

3c. 


